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Write a proof for each of the following.
1 Given: £l m, mlln
Prove: 21 = 212

2. Prove the Triangle Sum Theorem
Given: p !
Prove: m<5+m<24+m<6=180

;. Given: RUI g?
RS|| UT
Prove: L R=/.T




Given: BA L AC and B
BK | AC.

Prowe: A.B iy a right angle.

Given: £ and £2
are vertical angles; 1
214 43 = 180° 5
Prove: vy a. 3 b

Given:  £1 and 42 are
complementary
and 2 and 4.3 are
complementary.

Prove: GU | HS.




7. Givenm: 1= /2,21 = /3
Prove: AB | DC

8. Given:~1 and £ 2 are complementary. B
BC 1 CD 1

Prove: BA || CD
Proof: A
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7. Given: 21 & 22, 21 = £3 A 5
Prove: A | DT g st (2203
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4, Given: BA L AC and B i
BREAC. - LOTS " mL@y:9 6
Prove: 4B is o right angle.
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5 Giperr: 41and £2 L4
are vertica) angles; 1 LoTS 7 £25L3=1%0
41+ £3 = 180" 3
prove: ylia. 3 e
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